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QUESTION 1

The client uses an external application as the source for cycle counts. 

What value should be used for the profile option INV: CCEOI Commit Point to ensure successful processing of the
Import Cycle Count Entries from Open Interface concurrent program consistently? 

A. Create 

B. Process 

C. Simulate 

D. A number 

Correct Answer: D 

 

QUESTION 2

The client requires that cycle counts are entered by the warehouse staff. However, only the warehouse manager can
schedule counts, generate count requests, generate count requests and approve the counts that are out of tolerance. 

What should you consider when setting up the cycle counting process? 

A. The frequency of the recounts required 

B. The number of automatic recounts required 

C. The tolerance level for automatic adjustment 

D. Modify the workday calendar used by the warehouse 

E. The responsibility that has access to the Approve Counts function 

F. The number of serial and/or lot controlled items included in the count 

Correct Answer: BCE 

 

QUESTION 3

Identify the two statements that directly relate to material status control. (Choose two.) 

A. A material status can be enabled or disabled as required. 

B. The material status is defaulted when using Order Management. 

C. A serial number can be assigned a status that excludes it from reservations. 

D. A material status is a combination of transactions and planning actions that are allowed. 

E. If status control is not enabled for a transaction type, the transaction type is always allowed. 
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Correct Answer: DE 

 

QUESTION 4

What are the three elements involved in submitting a concurrent request? (Choose three.) 

A. selecting Operating Unit 

B. selecting report language 

C. providing completion option 

D. defining a submission schedule 

E. selecting the request or request set to be submitted 

Correct Answer: CDE 

 

QUESTION 5

In the Multi Org model of Oracle E-Business Suite Release 12, which organization type owns Bank Account? 

A. Ledger 

B. Legal Entity 

C. Operating Unit H 

D. Balancing Entity 

E. Business Group 

Correct Answer: B 
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